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@vs: & (SECTIONA)
HUFSTATT - AT
JqfeaTy - e

Unseen Reading Comprehension 10
1. sefafad el afddr IeEM ST dehdd foed -
=Ifeiiae Terisr 1 Uged UsHi & ST H&hd § [y -

Read the following passage and answer the questions in Sanskrit :

frmagaredia: gyfa gl gof: @qd gaed | 9dy ey o
feia=t | QU Iq FEE gdiEad W, dd qrad SrdiEa gt oA |
qorg: w@feegsedr Jaaftd oThdd | SaMl 99y Ry EeH-a= ad
TAHTEH GEIE GHASIHT BIERATO |eTd TRl 99a7: | /Y
TAT g BRI g | aeii+eh: GTATe ar Uare: g,
fiafa I | TATRER: e fEgaed § g, W
SeaTes faefiard, T S Hehe g qaEed | 3 uT

faga #mae 1|
- &

(37) THUSH I
L oo B Cl | 1 L
Answer in one word : Yox4=2
() apresl wifa: gad
(i) 9 I FTHE

(i) T AT t}airrq: ?
(v) a1 g T ?
(@) yotEEEs SR
mﬁete sentence: 1x2=2
: fp FE 2
fohe SRl ?

' 3 UAq Sfd §AAIIE B g

' gl W Uaqq G e fhee foT ugw e B v

TaTeTHT In this sentence for whofiad’ pronoun has been used ? 1
TG S -

FréaTaR s df -

Answer as directed : 1x3=3
() ‘derepren gwHITEnT 3= fagweme ey e

() & gIEET SR IO wTE R 2

(i) ‘@ TR o fa@mug f 2
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(@) o TEigE g sfive Gehae fored |
T Y # FfEa Sofive d@e5pa | faRaw )

Write the appropriate title for this passage in Sanskrit. 2

gvs: @ (SECTION B)

ES LI ELAT
WG WS B
Sanskrit Writing Skills 15
2. qUEE g9 SEe e T g sreifaRaads Aseun: qer %ﬁ
AR
UE-94 & FTER W 7 &l Af ¢ Fo=ror oo | HAoer o =T T
o e L 4
In a letter written to your friend inviting him to your ho e of Deepavali fetival,
fillin the blanks with the words given below : %x10=5
U foer i
110 N ()
ST HIA TEMIE | a9 (ilya¥g=rar g4 |
ERE ) I | Ty ey (iv)Erarartt

FHTA, HW—(V)%@H wafq | gavtafed A
(vi) EuTERaeE gavtafere gfafas aer w=

(Vilged Srad | Udeadd @dr S A
viii) | e @ watr (ix)esifereater | Hrer-fug-=reery

da_ (xpEr

HSST

STfsEe:, T, SR, e, TN,
STABICAT, TR, G, AT, TR |
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3.

Ao Jei-TEEEIETegdy aghdist Qe g faad

wequr # fau U ol @ weradr § dgwAn & oA @ Pof wwe q: fafaw

Complete the short story with the words given in the box below and rewrite the sarx10=5
Fad ag (i) 3T Afearie =M (ii) STTEI | &

(iii) qHHT T MEE HAT T A a2 (iv)

IHFIRYEMATE, T =T (V) T ATHT T | T FA@R: (Vi)
TSRS ST | 7 (Vi) == fagmd
(viii) d e e | a9 e (ix) a@
g | fagaeafer st (x) _ Tq=ERd )

TewdqoT, AR, Tegd, TR, TSI, T, o=, o=, O |
Aefiad HAA® [Toemaare qsqarey 1 e fofad
Freforfaa Bl T foor w ot arji o g fafe
Write a passage fif’e sentences i it on ameof the following topics : 5x1=5
EGDIEIIRE GO
: 7 (SECTION C)
ATTLHATHIH
ATIGh AT
L 2 Applied Grammar 30
Ay ahafse Fed

[ 4 @ifhd 9l H# A i

ndhi in the underlined words of the following sentences:: 1x6=6
|l T2 |

U9 HE ARSI |

(i) s A

(v) o JgW ud |

() W STEE: @

(Vi) SfraEsiy @ et |




6. FeNfeiEdy ey Y@iigdaeri foren da=mE
feftad arrl 9 w@ifed wal & faue fafeg -

Disjoin compounds in the underlined words of the following sentences:: 1x6=6
() ifaar T g
(i) YA qUERYedd |

(i) STEHT ERE AN |
(v) | fopgar |1y 7 qmikd Arsferd |

(V) W FEEETY Sufewl | 0
(vi) TEHEIST B | ()

7. SRy Y BISET-TE- I T e

Frfafaa aml § des & = Yea & eE-Hdse %ﬁaﬂaﬁﬂﬁq
Rewrite the following sentences by adding sufixes tf the s and words given in the
bracket : 1x8=8
) ompery 1 (ST +fa +g 4

(i) wEHT T | (379 + TR K

() e gear ~ (T + o)

) Fr= I T (3o + (@HfoT) arrr)

(v =ie &R, ﬂ%&f{ + )

(vi) oo gaamae (fr +=q + for)

(vi) T o | (sTferR + 29)

TG | (AR + %)

Tafd, M)
| (fgs=g, fsag)
| (ded, dw9)
| (e, Ho)
| (Fa=qats, fa=aata)
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STeeay ARy fa9re: e wequrEn faserer aeEd
Frfetiad arerl | fasst & wson & faQuer 9g Sifgy
Write the appropriate adjectives from the box, with their qualifying nouns in the
following sentences : 1x5=5

() = &= JOR Fal: HEHIIFA |
(NS EIESE AT GUAES e |
(i) W @ 9 ST |

(V) dgamEonT _ uded: &ad T aed |
V) T o gE e
o O

eTERauT, Sfe:, AT, g, ﬁaﬁw@ *
9. STHIEY ARy HIBHUS: TE SUTH-IURE TTT Wﬁ
ﬁﬂﬁﬁaﬁwﬁraﬁw%s@rﬁwmﬁsv’} T B gfe it
s

Fill in the blanks using appropriater+is wit given in the brackets in the

following sentences : 1x5=5
() #F&da % gTqu
@ & _

(i) et e
(v) @ 9gw o aﬁﬁraﬁﬁaféwﬁl
(V) T g@e T Qe | ()

gvg: ¥ (SECTION D)
4 T |
(PART )
qfSdisr - SEETE
gfeaisr - SEatas

Reading Comprehension 35

| el afddr Hehdd 99 SO
TETST T UG §E&hA § U & Ia¥ AN
Read the following passage and answer the questions in Sanskrit :

FHIRATFEAA  STANATETA TIATAT: IAIIST 3 AT Aem: giadta
| AT FAMAq d AATE AT TG AT IR HEl A
B, HallU T STEHANY: Ted(Od: | 3 AR Foodl | Feeargad: AU Fgd: |
TA: TAT T AR 3 Heaa: |
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(31) UHYSH I :

TH g H IR AT ¢

Answer in one word : Yox2=1
() =& 9| BT gqid & 2

(i) SIS FeCAT b S ?

FUEICREICRICEE
13 e B Ll I Ll

Answer in a complete sentence : 2
AT TAT HSA: {6 Jekdaw: ? C)

TR I
FRAER I dT L

Answer as directed : @ Hx2=1
() ‘Be’ 399 T fAQuor o= 9ghq ? 0
(i) mmwﬁﬁ;mﬁmm%

‘mga:#amﬁwﬁ:ar—é}f&?r:’m\ﬁ ST 3 qeAmuE e
RRAT

‘T B T HaAT STEATH: H ‘e 98 gaaM g fea g

g BT 2

‘T B T BN ST n this sentences for whom‘&=1fr:’ pronoun

used ? 1
11. Srenfoitgd Areanst I ST

22

frfaRaa smeans a?r‘ g9l & SO AT

gdramatic passage and answer the questions :

T AR | T8l o= faqfa: | qane

1 TAq TRRE@UEd, I [ S aWion wW, o L
T BfedT:, Stom e o ug FegEenti: gagsn S e

L e Bk Cll | T L
Answer in one word : ox2=1

() SudFEAS FF T8 quAd ?
(i) THIET SUAHEE R ST ?

7 P.T.O.



(@) ol W
Qo e § IR AT

Answer in a complete sentence : 2

T JoEd & Thd ?

(@) TIfeer STRa
FréaTaR s dfo -

Answer as directed :
() ‘omTrETEY T R gEETeHT 9gEd 7
@) fre e A e e

(®) R S u€ wE 9gHd ?

12. sreifeiEd 98 qiden 99 Jud @’
frfRaa & & UgaT 99l & SO deg
Read the following verse and answer the questions,
f3rem & Bl I @

Il i~ 9reaT: | &

g1 9 39 9 ded fasefd ||
(31) wpUSH I :

T & H IW

Answer in one w Hox2=1
() erETEa ?
2
Answer as directed : ox2=1
0 gar’ T {6 9o o ggwd 7
@) o T faQe fey e
(@) fomeafy sod & @ o= ugH 1
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13. STy USRI i@l FATHEIM ST -
T T U geie B gt FETER S AR
Read the following lines and answer as directed :
(o) g@ & g Sivd JaresRtad e |
garg a1 Afd A0 ReEdl ga: SRer ga: | Sif | |
A AR Ty W@h 9 foEd | 1+
@ oo ug I MEgaes § FeeMmbg Iogd, T IeaHd |

@ T F F AR B 7 O +1=2
14. YAHY ST TETHIEREAN JEHTEREa o

Ide A & 0 Ru MU @9 qmandt § 9 g8 wEre &1 99 S
Three explanations have been given of each line. Pick out th@ct §ne. 2+2=4

() FeERY & Hda W JuEHEy § adae: |
e

Jgar (OR)
SRIRICRRRIEIS I C| HeouTEae: Riger foad
F fom Mg et @ T @ & i frfaw
| idea of the given verse with the words given in the box below : ¥2x8=4
T g Ul 4r: |
A9l BT T T | |
q o g4 (i) ward, aut Stae (i) g 9afd |
yE @& (iv) Uq 9afa | d 9ed
(v wgdFanfi(viy_ i qWi g gEeaEn (vip_ =@
Jardd | oo &&d (Viii) M |
TS

TAMYOR, FeAET:, arae ™, WRUhRE, &, WUhR:, SFaduuE, SiaTe |
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15. SFEifiiEaer saheas yearad Reeamyfd Far faed :
frforfiad a1 sl & U T et # R 'l a6 9fd R sy § fafag
Fill in the blanks in the prose order of the following two verses and re-write in the
same. Yox8=4

(31) SATERIdfe: AT B JUWEE |
snfaredtsear g T Al A |

T
S HESHI() FEI (D) e, 3t (iii) )
Tu (iv) IHERCEL

(@) @ A wee TdEad MEYeEEAdrIdrE: | ()
Jgr Fqfl: gew: adedd @R Qi O HO | | *

SiRCH
7 (i) =M F TEad adn (i) ‘ sz?‘vv (iii)
FHOT (iv) gHT: e | %

16. STENfEqaTRIT Aeddaan Har HHT
ffciRaa arel & arefe 9o &Y

Rewrite the following sentences as p tial order : Yox8=4

(i) ot e, = WITEdl ATHIR: |
(v) Fue 1 forwe ;
(v) SR 3 I ! |

{9y gfaue fh waq A q9atd
1 ST |

qferal # Y@ifehd 9al 1 TEFHER 96 3 I e
Belect and write the appropriate meanings of the underlined words as per reference to
the context : 1x4=4

(31) HUSAH ARIUSALEST: |
() gdfE
(OEERIFELIEHE
(i) SRR

22 10



(@) goa @ wgq T/
M o
@i e
(i) ==

(@) s |
O S

(i) warg
: Q
(7) fod MRus oirdr yaef | 0
() PR .
@) e @
(i) e < |
gve: g (SECT|0®'

10
18. srefafgaHr HdT 39 [ A ford
frfafaa ®faat & [ [ 1 FeemgaR AW fafag -
Write about the pIaCE@nd works of the following poets as directed :

m @O -wm | gk 1

(@) HEpaHEEEAE FAY 959 afyrearte foed |
Hq&pd WerhEAl  fheel afg faQuaret @ Swi@ i |

Write any five features of Sanskrit Mahakavayas. 5

3gar (OR)
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22

e AU Repergfd g5 -
e Ao # fw o wer § Reprmi @ gfd i

Fillin the blanks with the words given in the box : %x10=5
() o=<REed @ ®&d, 9 Hegguid &ar 4|
(OIRCAISEE a9 ufg:, e T |
(i) TeH IMEr wafg o= T |
(v) @UsH T WIS, IS
(V) ®9p€ _ WEnowEtd, dy M WC

HSTH 4

SREATIAHT, T, TEq T,

\

(%
@\~

12





